

Multiply by 10^{-3} (A)

Find each product.

$$72 \times 10^{-3} =$$

$$12 \times 10^{-3} =$$

$$91 \times 10^{-3} =$$

$$99 \times 10^{-3} =$$

$$84 \times 10^{-3} =$$

$$95 \times 10^{-3} =$$

$$94 \times 10^{-3} =$$

$$60 \times 10^{-3} =$$

$$73 \times 10^{-3} =$$

$$8 \times 10^{-3} =$$

$$5 \times 10^{-3} =$$

$$49 \times 10^{-3} =$$

$$95 \times 10^{-3} =$$

$$49 \times 10^{-3} =$$

$$58 \times 10^{-3} =$$

$$54 \times 10^{-3} =$$

$$33 \times 10^{-3} =$$

$$60 \times 10^{-3} =$$

$$84 \times 10^{-3} =$$

$$86 \times 10^{-3} =$$